#H 3

LRIRTED - O - LT CAIERAHEE (B28) REER-KP 1 —BX

(751 ~LIEDRlE~] HAEMBE(H30)| ROIEE(E®)| RO2BAK| #HEBEZ | ERE
HEBE |TRAE (FERD) (5] 269.7 268.1 265.0 282.1 | 93.9%
| -(1)|FEbER (H27T~R5FD) (3] 3 4 5 6| 83.3%
| -Q)|BEHE (F/m) () 74 92 92 100 | 92.0%
RENA F < 2REHERE (/) [t]) 122 118 182 4970 |  3.7%
| -G ARENA F~ 2R EESE (FRD) [t] 52 2,749 2,749 1,805 | 152.3%
MEmRESE (M) [ha] 46.1 28.1 62.4 61.3 | 101.8%
. TEALRESIRE (ER) (tcoz] 1,922 2,177 2,276 8,661 | 26.3%
| -@) B B A DM (H2T~RED) (3R] 6 7 9 12 | 75.0%
ETASERITO L E DILR (%) 54.8 68.0 76.7 90.0 | 85.2%
| -B)[[BOERF AEL (FERH) (5 Al 76.0 77.3 65.0 100.0 | 65.0%
#0558 - /NFEEENRFEEE (D) ! 234 222 210 350 | 60.0%
| -(6)| B (H27~235) (] 17 21 31 82 | 37.8%
HRERAIHE (H27~R:H) [A) 52 59 69 100 | 69.0%
(751 ~BhoflE~] EAEME(H30)| ROIEEE®)| RO2BAKL| #HEBE | ERE
MEEE |ImAEH (R2~REH)  xapRus 0N 3,251 3,177 600 4,150 | 14.5%
- AOERE (R2~2REH) (A) A 897 A 757 A 100 650 |A15.4%
RADICH I 2 b EAERO%RE R~RH) [F] - 24 0 150 | 0.0%
I-Q2)|FFR MR XEHR (R2~REH) (@] - - 0 225 0.0%
2Tz —F Y LIMEBREEK (EE)  [A] 791 803 815 1,000 | 81.5%
B LES LAAER (EM) [A] 68 52 0 100 | 0.0%
KPI | 1-B)|srw LEs Lumssean GEN (@) [A] 868 960 0 1,000 | 0.0%
H L h K HIAEFRRBERN /-7 REEHR (R2~2FD)  [#] - 0 0 20 0.0%
- AT 2574 A" ZFPEEHK (ER) (5 A] 14.7 15.0 10.0 15.0 | 66.7%
J RALBEBEIE KRR A RFAER (ER)  [FA - - 1.0 1.0 | 100.0%
1 -(5) BHAAEH () (5 Al 117.4 124.3 106.6 150.0 | 71.1%
FTEAAY P RISEH (ER) (5 Al 1.4 1.7 0.5 20| 25.0%
[Tl ~VEDRIE~] EAEME(H30)| ROIEE(E®)| RO2BAKL| #HEBEZ | ERE
HEBE | HEH (M) Xaspus [A) 55 39 44 90 | 48.9%
- 2ERN - FERRAE [2%8]) —EEHUT|  ERL I [[2EFHUE|] -
LEES - BB, BEHBBERE (FHTEA] |—BEHUT| —EHER hik  [|[eEwHEuE -
KPI |||-(2) HEH (FRH) xzppam (A) 55 39 44 90 | 48.9%
7IU—HK—ber g -EFEEK (RD  [A] 363 384 390 420 | 92.9%
-G by 772U — FBRAK (B [A) - 6 6 50 | 12.0%
(BTSN ~FboRlE~] HAEME(H30)| ROIEEE®)| RO2BAKL | #EBEZ | ERE
KEBE |IHEHR (R2~RED  xz2gppE [A) 4,148 3,934 700 3,500 -
B 55 SR (%) 88.0 88.4 90.0 100.0 | 90.0%
IV-(1)[ 4 BIB—F = X — L OEFMEHR (RH)  [#] 600 615 700 2,000 | 35.0%
BREESICET 2 H B (D) (] 279 87 200 200LLTF| 100.0%
EEREXEDES (RD [» 7] 1 1 1 2| 50.0%
KPI | IV-Q)[EEERN BEEIEMSH (R2~RED)  [#7] - - 0 1 0.0%
NBEREROWKE & 711 > BAEIRE R2~RED) [ 7] - - 0 1] 00%
V-3 HAERRS T TERBEREEH (R:D)  [A) 79 88 118 184 | 64.1%
BALEDELEEFRSIESR (B~ (FE)  [A) 35 24 30 50 | 60.0%
V-4 mEEEASEEONEEER (/)  [A] 916 933 940 1,000 | 94.0%
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